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Master of Arts [Economics] 1% Semester
1128

MICRO ECONOMICS-I
Paper-MAECO-101 (In all Mediums)

Time Allowed : Three Hours] [Maximum Marks : 80
Note :— Attempt five questions in all, including Question No. 1 which
is compulsory. Choose one question each from other four
Units respectively. Each short answer type question carries
2 marks and long answer type question carries 15 marks each.

1.  Attempt any ten short answer questions in 25-30 words each :
(1) Define Static equilibrium.
(i1) What is the Second order condition of Consumer's
Equilibrium ?
(ii1) What is an Indifference Map ?
(iv) Define General equilibrium.
(v) What is Veblen effect ?
(vi) Why do people gamble ?
(vii) Write a short note on Hidden Actions.

(vii)) Write a note on Cash Subsidy in the light of Indian
Agriculture.

(ix) Define Price Effect.
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(x) Write a brief note on Consumer Surplus.

(xi) What do you mean by Network Externalities ?

(xii) Write a note on the Learning Curve.

(xii1) Write a note on Substitution Elasticity.

(xiv) Define Economies and Diseconomies of Scale.

(xv) What do you mean by Multiproduct Firm ? 10x2=20
UNIT-1

What do you mean by Stable Equilibrium ? How do Walras
and Marshall Approaches achieve stability of equilibrium ?
555

How do the parents of the students make decisions while

sending their wards to join MA Economics in Universities or

Colleges ? Discuss it in the light of Mankiw's Principles.
5,9,5

UNIT-1I

"An ordinary demand curve may or may not slope downwards
to the right but compensated demand curve always slopes

downwards to the right". Comment on it. 7.8

Derive the indifference curve by using the Revealed Preference

theory. 15
UNIT-111

Write a detailed essay on Risk Return Trade off. 15

What is Asymmetric Information ? How it leads to the problems
of Moral hazard and market failure in the case of health insurance ?
54555
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UNIT-1V

Distinguish between returns to a variable factor and returns to
scale. Why a rational producer likes to operate in the second
stage of Law of returns to scale ? 5,10

Modem empirical studies have found that long run average cost
curve (LAC) is L-shaped. How would you explain it ? Does
it contradict the U-shaped long-run average cost curve of the

traditional cost theory ? 555
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